AP Exam Review MC5 #66-69, 71-75 #1-3 NON-CALCULATOR except #68,73 & 75
Google Form MC Entry (12 questions)

66. The graph of f is shown in the figure on the right.
If g(x)-l:f(l)dl.fumvduoof x does g(x)

have o maximum?

(A)a  (B)b (C)e (D)d :
(E) It cannot be determined from the information given. /:\(v., -

67. In the triangle shown on the right, if’ @ increases at
n constant rate of 3 radians per minute, at what rate is
x increasing in units per minute when x = 3 units? 3 x

A)3 (B)'—4§ ©4 O  ®12

68. (Calc) The velocity, in ft/sec, of a particle moving along the x-axis is given by the function
v(r)=¢' +1e'. What is the average velocity of the particle from time = 0 to time = 3?
(A) 20,086 f/seo  (B) 26.447 f/sec (C)32.809 fifsec (D) 40671 fYsee  (E) 79342 fV/sec

69, il

AI
The graph of y = f(x) 15 shown mn the figure above. If A, ana A, are positive numbers that represent

the areas of the shaded rogions, then i terms of 4, and Ay, [, f(x)dx-2f", f(x)dx=

(A) 4 (B) A, - 4, (C) 24, - 4 (D) A+ 4, (E) A +24,
T CLL) S
(] h ;
(A) f'(e), where f(x)=Mnx (B) f'(e), wm,r(:]--:-
(©) (1), where f(x)=Inx (D) £'(1), where f(x)=In(x+¢)

(E) £'(0), where f(x)=Inx




72. Let f be a continuous function on the closed interval [~3.6]. 1 J(=3)=~1a0d f(6)=3, then the
Intermedinte Value Theorem guarantees that
(A) £(0)=0

(B).j‘(c)-% for at least one ¢ between —3 and 6

(C) <15 f(x)=3 forall x between ~3 and 6
(D) f(¢) =1 for at least one ¢ between ~3 and 6
(B) f(c)=0 for at least one ¢ between ~1 und 3

73, (Cale) Let g be the function given by g(x)-]:lh(l’)d for —1%x<3. On which of the following

intervals is g decreasing?
(A) ~1€£x<0 (B)osx<1.772 (C)1.253sx52171
(D) 1,772 £ x £2.507 (E) 2802sx<3

M0 f"(x) = x(x41)(x~2)", then the graph of f has inflection points when x =

(A)~ 1 only (B) 2 only (C)~ 1 and 0 only
(D)~ 1 and 2 only (E)=1, 0, and 2 only

75. (Calo) A particle moves along the x-axis 80 that any time 7 > 0, its acceleration is given by
a(r)=In(1+2"). Mthe velocity of the partcle is 2 at time ¢= 1, then the velocity of the particle

attime £~ 2 is
(A) 0.462 (B) 1.609 (C)2.555 (D) 2.886 (E)3.346

L Ify= (222 +1)4, then.gz& .

(A) 1623 (B) 4022 + 1)’ (O a2 412
(D) 16(22% + 1)° (B) 162(22% + 1)°
2. /z\/z’+1dz.= -

(A) 7;%%0 ®) e +nt+c  (O) da?+1i+c

(D) 3@*+1)i+cC (B) iz +1i+C

d .
x & Ifﬁ:m, théﬂ%:

(A) 2y (B) 2z+2y  (C) 2z+4dy (D) 22%y+2y (BE) dz?y+ 2y



